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CHUYỂN ĐỘNG CỦA VẬT BỊ NÉM 

I .TRẮC NGHIỆM 

Câu 1:      ậ   ư                                                         r            T ờ  

       ạ           ậ     

 

Câu 2:                  r                                                ậ   ư                 

                  T               ậ     

 



Câu 3:                 ư                                                   ư       r         

 ậ                 ư              ư                                          ế    ậ      

              

    A.               ạ                                  ạ       rư   

                   ạ       rư                    ư                   r   ờ   

Câu 4:                        ẳ    ề         ư                     v1                     

     r               ế                     ẳ    ề             v2  r               ẳ     ẳ   

          ậ                                 ắ                         ế         ư          

      ạ  L  ằ                ế  rằ                                ư      ề       

 

Câu 5: T       ỉ     ọ           80                ư              ư               ậ      

        20 /   L     = 10  /s
2
    ọ   ệ  rụ   ọ     O          O  ạ            O   ư    

theo v0 :;   O   ư      ẳ               ư  ;            ằ    ét  P ư     rì     ỹ  ạ          

        

 

Câu 6:      ậ   ư            ậ                  0        ư              ư          1     

   Gọ  L                ậ    L  ạ       r                 có      rị              

A.30
0
              B.45

0
                   C.60

0
                        D.90

0
     



Câu 7:      ậ   ư            ậ                  0      ị           ư              ư    

ngang 1 góc  .  ọ   rụ      ư      ẳ        lên trên ,ox song so                      là gia 

     rọ    rườ                   .Đ                     ế              
g

v

2

sin 22

0 

 

 

A.T ờ                     B.T   bay xa                    C.T   bay cao                        D. ậ          

  Câu 8:      ậ   ư            ậ                  0      ị           ư              ư    

ngang 1 góc  .  ọ   rụ      ư      ẳ        lên trên ,ox song so                      là gia 

     rọ    rườ                   .Đ                     ế              
g

v 2sin2

0  

A.T ờ                     B.T   bay xa                    C.T   bay cao                        D. ậ          

  Câu 9:      ậ   ư            ậ                  0      ị           ư              ư    

ngang 1 góc  .  ọ   rụ      ư      ẳ        lên trên ,ox song so                      là gia 

     rọ    rườ                   .Đ                     ế              
g

v sin0  

A.T ờ                     B.T   bay xa                    C.T   bay cao                        D. ậ          

Câu 10:      ậ   ư            ậ                  0      ị           ư              ư    

ngang 1 góc  .  ọ   rụ      ư      ẳ        lên trên ,ox song so                      là gia 

     rọ    rườ                   .Đ                     ế              vo×    α 

A.T ờ                     B.T   bay xa                    C.T   bay cao                        D. ậ          

II . TỰ LUẬN 

Bài 1:T              r    ườ           ồ        ậ   ư              ư     ằ             ậ  

    10 /   T      ế    ệ    ẳ               ư          ì  ườ   ồ          ườ     ẳ           

góc  = 30
0
          ư     ằ             r          ậ   r    ườ   ồ                    L     

= 10m/s
2
. 

Bài 2: T         15                       ậ   ư         ế        r        ậ          20 /  

          ư     ằ            30
0
. Tính 

a. T ờ                   ế       ậ    ạ      

b. Đ               (           )     ậ   ạ      

c. T               ậ   L    =10 / 
2
. 

 



 Bài 3: T   ỉ            30            ậ             ư               ậ               0= 

20m/s. 

 1  T             ờ                   ế       ậ    ạ                               ạ  

     ế             

 2  Gọ                 r     ỹ  ạ   ạ            ậ                ư      ẳ            

góc  = 60
0
  T                                  

Bài 4:.              ư              ư                    80   S                   3    ậ  

                          ư              45
o
. 

 / T     ậ                           

 / Q        ẽ   ạ                           ậ                 

Bài 5:                    ư      ẳ              ậ             ổ  v1= 150  /            2   

(            ư       )     ắ                          ế   Tì                ữ             

       ế         ư                      ắ      r    r                        ạ       ậ      

không  ổ  v2= 20 m/s ? 

 X        rườ      : 

                      ế                      ề   

 b. Máy bay và tàu chiế                ư      ề   

      ế :                   ế               r                   ẳ     ẳ           

L     = 10 / 
2 

                              

------------------Hết------------------ 

 


